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Instructions :

)

All questions  are compulsory.
Marks allotted to cach guestion
are given in the margin.

In numerical questions, give all
the steps of calculation.

Give relevant answers to the
questiens.

Give chemical cquations

wherever necessary.
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1. Four alternatives are given in each part

of this question. Select the correct

alternative and write it in your answer-
book :

a) Which of the following has a total’

number of 2 atoms per unit cell ?
i)  Face centred cubic unit cell

(ﬁ) Body centred cubic unit cell
iii) Primitive cubic unit cell

R2841

V) [None of these. !
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nm) 025 agmL™!
n) 0SS malml . ]

The mast durable metal plating to
sfeguand iron from corvosion will

b http://www.upboardonline.com
i) Copper plating

i) T platng

m) Jine plating

n)  Nickel platng. 1

The appronimate time required for
the completion of 50% of a first
order reaction is

N Plumesofit,
W 2 2timesoft \
i) 33tmesoft;,
V) 43 timesofty, . 1
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The reaction between
R - NH, + CHCl, + KOH[alc) is known

as
i)  Coupling reaction

i) Carbylamine reaction

i) Hoffmann bromamide reaction
iv) Schmidt reaction. 1

Which of the following bascs is not
found in DNA ?

i) Thiamine

i) Cytosine

iii) Uracil

iv) Adeninc. 1
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Calculate the packing efficiency of a
cubic lattice when atoms located at

corners of the cube touch cach
other. 2

Calculate the mole fraction of
glycerol (C4HLO,) solution in 25%
by weight of glycerol. 2
A CuSO, solution was electrolysed

for 450 scconds with a current of
2-:0 ampere. Calculate the mass of
copper deposited at  cathode.

[ Cu = 63). 2
Explain selective catalysis by an
example. 2
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9 g glucose (CgH,,0,) is dissolved in

S00 g of water. Find out the boiling
point of the solution at a pressure of
1013 bar

( k,for water = 0-52 k kg mol™'). 2

Explain Kohlrausch's Law, 2
Explain the mechanism of the
formation of micelle. 2

Explain with reason the anomalous
behaviour of the clements of oxygen
family of the periodic table. 2
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Write a method of formaton of
potassium  permanganate  {rom
MnO2 and also write chemical

v X S

cquation. Write chemical equation of
the reaction of tpotassium per-
manganate with KNO,,. 2+l

Write chemical equation for the
formation of N, N-dimethyl phenyl
methanamine from benzyl chloride.
3
Write chemical cquation for the
formation of Teflon, Malamine and
Terylene. ! 1+1+1
What arc soaps ? Write chemical
cquation and the method of
formation of trunsparcnt potassium
soap. 1+2

| Turn over

347(FL)

5. @)
B)
)
)

S. a)

b)

R2841

10

fag it f waw il 51 3w §
999% T ¥ H TN TW
0 () F 10 T € A k
i | Tegfiian v & e @
fafu feitan| smiea fe @@R0 3K
TS T S fanEt 4

wodie g " 39@gadd
proenili e Eric i coer
TR ZRT AR | 2+2
3‘?719\' S g T % ? SR

TW WHARY AR KCN 741 AgCN =i
‘KH‘SQPEF"? 8 f?ﬂi ?n:l "'ﬁ COLRUI H'I("-ﬁ
TIERY 1+1d 418

2 2

Prove that the time required is
10 times of the half-life period for

the completion of 999% of a first
order reaction. 4

Write the method of extraction of
Aluminium metal from Alumina.

Also draw labelled diagram and

write chemical equations. 4
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Explain co-ordination isomerism
and geometrical  isomerism in
coordination compounds by giving
examples. 2+2
What are  bidentate  nucleophilic
groups ? Explain it by examples and
also  explain  with reason the
rcaction of KCN and AgCN on

haloalkane. ] + % + 1%
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Explain the reactivity of phenol
lowards the clectrophilic
substitution, Write chemical
equations of three examples of it.
24i] + §:0
OR

Write only chemical equations of the

following : 3+1+1

i) The dehydration reactions of
primary, secondary and tertiary
alcohols

i)  Kolbe reaction of phenol

iii) Williamson's synthesis.

What happens when —

i) Ethanol is heated with caustic
soda ?

i) Propanonc reacts with
chloroform ?

i) Propanone is hecated with
sodium hypochlorite ?

iv) Phenyl mecthyl ketone s
heated with 2,4-dinitrophenyl
hydrazinc ?

v) Benzaldehyde is heated with
concentrated NaOH solution ?

1 +]:+1+]
OR
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How the following will  be

obtained ?

i) Benzaldehyde from Toluene

i) Benzaldchyde from Benzoy!
chloride

i) Ethanal from Acctonitrile

iv] Benzoic acid from Phenyl
methyl ketone

v)  Benzoic acid from
Bromobenzene.
1+41+1+1+1
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What happens when —

i) Ammonium dichromate is
heated ?

i) Sodium azide is heated ?

iii) The aquecous. solution of
ammonia is added o the
solution of cupric ion ?

iv) Sulphur is heated with
concentrated nitric acid ?

v) Carbon is hecated with
sulphuric acid ?

l1+1+1+1+1
OR
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How will you obtain —
i)  Ammonia [rom Nitrogen ?
i) Nitric oxide from Nitrogen

dioxide ?
iii) Phosphoric acid  from
phosphorus ?
iv) Phosphine from white
phosphorus ?
v) Sulphur chloride from
phosphorus + ... ?
W 2 6. 2 HE 3 B
b) What are nucleic acids ? Explain the
chemical Mﬁxpnsitiun of nucleic
acids. 2+3
OR
Explain the primary, sccondary,
tertiary and quaternary structurcs
of proteins and also explain the
denaturation of proteins.
j+1+1+1+1
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